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Question Number : 1 Question Id : 27028218932 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The main objective of teaching at Higher Education Level 1s:
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Options :

To prepare students to pass examination
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To develop the capacity to take decisions
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To e1ve new information
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To promote teacher-centred learning
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The primary duty of the teacher 1s to
S cind (@oed 850



Options :

Raise the intellectual standard of the students.
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Improve the physical standard of the students.
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Help all round development of the students.
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Inculcate value system in the students.
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Generally the most effective approach dealing with the child's aggressive behaviouris
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Options :

to channel his/her aggression mto legitimate areas of competition.
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to reward him/her for friendly behaviour and to ignore his’her aggressive behaviour.
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to give him due punishments, when he shows aggressive tendencies.
5B (RGN Babinth 88o0dto

3. %
to msist that he/she apologies for his undesirable behaviour.
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Which of the followmng statement is not correct with regard to lecture method in teaching?
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Develops reasoning
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LImproves knowledge
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It 1s one way process
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In this Method students are passive
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
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"A diagram speaks more than 1000 words." The statement means that the teacher should
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Options :

use diagrams in teaching.
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speak more and more in the class.
| 3018 KOS Q¥ HréreeD.

use teaching aids in the class.

y S518 K680 SPESEigsmred ad@RRoTed

not speak too much in the class.
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Which of the following is not a main task of research in modern society?
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Options :

to keep pace with the advancement in knowledge.

8 HACH Eﬁﬂ%ﬁo@s Hwothotdo

to discover new things.
Ardrogronn Baftato

to write a critique on the earlier writings.

18 8300z Dhirds 58855 Saheo
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to systematically examine and critically analyse.
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The research that applies the laws at the time of field study to draw more and more clear ideas
about the problem s:
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sdiango T2 H68%G téo:
Options :

Historical research
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Action research

Experimental research

BErREE D08

Case study
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The experimental study is based on:
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Options :

The manipulation of variables
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Conceptual parameters
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Replication of research
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Survey of literature
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Which of the following sampling methods is not based on probability?

1Bob 57°0F° Hogrdedsh eHHBoSY HASEHS Diéé?_‘v 6 ?
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Options :

Simple Random Sampling
OBE alrthing H8IahHo

1. %
Stratified Sampling
HOES (H8Sahso
2.%  OF
Quota Sampling
v B%er (5@3ahs0
Systematic Sampling
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Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which of the following is the first step in starting the research process?

1Bob TS 5

Options :

Searching sources of tools.
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Survey of related literature
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Identification of problem
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Searching for solutions to the problem
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Question Label : Comprehension

Read the passage and answers the question from 11 to 15:

By the mid-nineteenth century, mass production of paper patterns, the emergence of the home
sewing machine. and the convenience of mail order catalogues brought fashionable clothing into
the American home. By the early twentieth cenfury. home economists working in extension and
outreach programs taught women how to use paper patterns to improve the fit and efficiency of
new garments as well as how to update existing ones.

Teachers of home economics traditionally made home sewing a critical part of their curriculum.
emphasizing self-sufficiency and resourcefulness for young women. However. with the increasing
availability of mass-produced clothing in catalogues and department stores. more and more women
preferred buying garments to making them. As a result. home economists shifted their attention to
consumer education.

Through field study, analysis and research. they became experts on the purchase and preservation
of ready-to-wear clothing for the family. offering budgeting instruction targeted at adolescent girls.
Moderm home sewing made it possible for American women to transcend their economic differences
and geographic locations with clothing that was increasingly standardized. The democratization of
fashion continued through the twentieth century as the ready-to-wear market expanded and home
sewing became more of a pastime than a necessity.
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How did home sewing help American women?

Do Bty edbES Hirdol der SBahndoh?
Options :

They became field analysts and researchers.

) T PG DFehen Hdakn HOEen edit.
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They went beyond economic boundaries.
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They found good jobs.
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They became excellent teachers.
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What improved the fit and efficiency of new garments?
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Sewing maclunes
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Mass production
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Paper patterns
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What were the skills that were emphasized for young women?
cndhe 55 T°8) Baynd Jdemgen dnd?

Options :

Selt-confidence and self esteem
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Self-sufficiency and resourcefulness
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Resourcefulness and self-confidence

DS DoWES sHBCTN &) HFR0
3. % =

Prudence and resourcetulness.
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Who became experts on the purchase and preservation of ready-to-wear clothing
for the fanuly?
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Options :

Owners of department stores
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Field-study analysts
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Young women
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Teachers of home economics
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Who was the target group?
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Options :

Young women
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School children
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Adolescent girls
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Working women
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Sub-Section Id : 2702821390
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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The following are the barriers to effective communication except one. Find it out.
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1. Bypassing
&SR0
Proper encoding
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3. Frame of reference
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4 Physical distraction
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Psychological interference

HmiiR 550

6. Emotional interference
e Ol £7550

7 Cultural differences
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The right code is:
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A teacher should have good communication skills. He / she will be a good communicator if
he/she

28 Kt ot Sogrip SDee BOA 605, 98D [ w3 2.8 508 QrFHEmT sokérdd:
Options :

Asks questions about his / her classroom

wédD [ @D SEKS K 1960 BHEen ethiberth.

Helps students to score good marks / grades
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Helps students to ask relevant questions
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Uses and provides mnstructional material
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Correct Marks : 2 Wrong Marks : 0

In the question given below are two statements labelled as Assertion (A) and Reason (R).
In the context of two which one of the following is correct?

Bots mi EH6S° Toth D samon. (80 (A) Hbdh suo (R) ef) bedatisa.
Assertion (A): Women are depicted in a negative way m the media.

(HE6S (A) : DBairs® Hirfod Haremis Sltgéﬁﬁ D@gGoT.

Reason (R): Media has furned completely unethical in modern times.

80 (R): shboie athdE seod® Jrom egdore Srosfonod.
Options :

Both A and R are true. R is the correct explanation of A

A $0cin R Botir deso, R &dB A @) 5B Dt

Both A and R are true. R is not the correct explanation of A

A 5bc%n R Bor 923059, R &dd A Gng) 585 D588 soth

A 1s false. R 1s true

A &33p, RQes0

Aistrue. Ris false
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Correct Marks : 2 Wrong Marks : 0
What is ‘Synchronous Media?”
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Options :

Printed media

1 % (2085 &aie

Media providing information about the issues and events
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Live telecast

Media in digital enviromment
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Mr. Ajay completed MA Economics. He 1s going to attend an interview, He dressed for the

occasion. This 1s an example of communication,
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Non-verbal
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Emotional
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The ratio to earnings expenditure of ‘A’ is 5:3 and that of ‘B” is 7:6. If the savings of
‘A’ 15 twice that of *B’ then what could be the ratio of total earnings of ‘A’ and ‘B’
together to the total expenditure of ‘A" and ‘B,
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Two trains running at 45kmph and 54 kmph cross each other i 12 seconds when they

run in opposite directions. When they run in same direction. a person in the faster

train observes that he crossed the other tramn i 32 seconds. The lengths of the two

trams are (in meters)
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In a factory. for every five unskilled workers. there are two skilled workers. If 10

unskilled workers are dismissed and two skilled workers are taken. then the ratio of

skilled workers 1s half. How many skilled workers are there m the factory?
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The missing number in the sequence : 6. 14, 36. 98. 15
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Options:
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BUTTER is coded as 123345 then the code for TUBE 1s
‘BUTTER® ‘123345 1 56 ToHG08. e@H 1 'TUBE' o0 86
Options:
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Missing group of letters in the following
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As ‘BDEG’ 1s related to ‘DFGI’ so ‘HKMO' related to

‘BDEG’ & ‘DFGI’ & $02)0¢%:30 03¢, @3 DA™ ‘HEMO’ & $02508580
Options :

INOQ

1. %

, « TMOP

3.v IMOQ

INLP
4. =

Question Number : 28 Question Id : 27028218960 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Which among the following statements is correct based on the following Venn

diagram

808 IS VS0 SO0 [2edeinrede AR

Options :

| x Some X'sarenot W. (503 X e Wen 5D )

, % some Y'sarenot W. () Yen Wensdn)

» X'sareY's. (XenYen).

4V Wisarenot Z. (WenZew 5¢w)
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The odd one among the following is

80O TS AR, 2.8 VOO NOoWE

Options :



Rose ( (D ey3) )

5 % Lotus ( @o08)

3 Orange (0°002 )

4w Lilly (5e0)
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g

. There are three married couples m a famuly of three generations. A 1s grandson of H;

G 1s the mother m law of C; D and E are brothers. B 1s only nephew of E. Fis the
sister in law of D. B 1s the son of C. How is B related to G ?
P ST 50EN00ET, WP DFEre 20N G aN. A, H B0E), e G
@6 € G3nE) 9; D o000 E &FSen. B, E Ghod) 3oee0; F, D BoE), H6& B
Sotocen (sister in law), B, C G30%), 505, B G & der Hoaoo?

Options :

1 = Daughter (Boeedd D)

- Wife (23°8§)

5  Grandson (e0IED)



. cimeh
4 % Daughter in law (5Caew)
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Note: The questions Q. 31 to Q. 35 are based on the following information:
Ha0E: (38160 Q.31 b0 Q.35 508, 808 JArirdo SO &) o,

The performance of 5 batsmen A, B, C, D and E playing for a team in a cricket series
of five 20-20 matches is presented in the following pie charts. The first pie chart indicates the
distribution of total runs scored by the team in the five matches and the second pie chart
indicates the distribution of total runs scored by each batsman in the entire series. Assume
each batsmen played in each match and the sum of individual scores of batsmen constitutes
90% of the total runs scored by the team in each match.

2.4 9% 2020 57885 © 5008, 2.8 26D FB% ey A, B, C, D B0 E @ 2058
2rge3of estord Gng) HBHe (HABND, 808 Bod SETd dtuwod Fod

BIDEI0. Jokd D b b éJDFSSmeSﬁ oty 308 Ao Bibe ek Hrod. HEAM
BOdS 26260 (296 36T @) S35 O 0D TN O Db ArdN08. ()6

et @) SF5S O SR, HO0H 87 7S OF DAHAD eerr HEiHe Fnddw,
& 26D T F0ea HHHOS 90% 9T,

Sub questions
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The percentage of runs scored by the batsman E m the five matches scored by the

team 1s

28 atp 0iH FrsSos® TAH HDHOS, e ED G0 H8He Féo
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The percentage of runs scored by batsman E in the runs scored by batsman C is

2263728 € TS HDHOE, 27665 ) 57 E TS HBier 7ebo

Options:

1. % 10
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By what percent C scored runs more than that of D?

23°2€3 ) TS D $0T) C DE0LT Do) 0i0e) 3°¢h0 J0eh ?

Options :

1. % 10
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In the runs scored by the team in all matches, the batsmen scored less than 26 % runs
are
) Frsos’ 26 .5 T H&HOS, 26 TS0 Lo b H&en

Options:

Aand B
1 % AoNOA B

A.Band D

, » A.B 08a» D

A Dand E
A.D DA E
3

A B . Dand E
4 x A.B.D0OAW E
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In the total runs scored by the team. the percentage of runs scored by B and C
together 1s

260 &%).5 T s HOHOS, B B0 CEOD T Hke Te0
Options :

1% 2177



2_ W

3 % 55.00
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Which device i1s required for the Internet connection?
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& s Al e =yt oy o i
2066583 e0:onrR8 o) HBEBo eddo

Options :

Joystick

Modem

2. OGeD

D Drive

P!

n

30
£
[=]
L&
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n

3.6, 8. =50
L

-

A

4. %
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Junk e-mail is also called

E o i i e iy £ B oo TN et
2305 B—aHONS £ dHorr Brd Denaed.

Options :

spam

D
LaF ot B
@

spoof

S0V

o

snifter script

b B3

3. %
spool
S
4. %
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Which of the following is not a protocol used for infernet communication

2066385 Harmred® 180d 7ASE° & (s aeisn.

Options :

TCP/TP
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Which of the following files can be opened m browser without any plugins

o b aden Bore (F'abs® Bod 8S° 5 o BBHKOEN.

Options :

mdex.doc
aoiﬁ%. wE

1. #



mndex html
ao(ﬁgrj. AT TN Y ]

index ppt

3 % 50855y 20

imndex dot

5086y &otd
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ICT in governance will not aim at

gbe ICT @wE) efo 56575

Options :

E-government : the application of IT for mtra-govermmental operations

(Government to government or G2G)

B5-(28h&0 : @088 (H8DHE (BEabeh IT srito
( (3800 ood (224he0 8o G2G)

E-service : the application of IT to transform the delivery of public services
(Government to Citizens or G2C)
B-nden: [P naei) 38)Er8  IT ar&8o

5 % ( (53080 00 e dor G20)



E-business : the application of IT to operations performed by government i the manner

of G2B transactions (e.g. procurement)

B-are30 : (0400 o G2B S8 5)5&{)?:}“0“&?@6 PEhe30 S0erOB

E- education

4 E”-.—Sjtﬂé
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Laterite soil contains more of
o385 HE 1 JENST Goérow.
Options:

Iron and Alumimmm

Baan, eeriibddho
1.9 =

Magnesium and boron

~ s Bl - - .-RE 1=
?‘J;&_&Oﬂ:u, 270w



Manganese and Silicates

Hrond, wé’_}qey

Potassium and lead

4% Srércdho, Hdo
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Match the following:

Bob @) e3e855)e5m.

1. World Environmental Day a. Febmary.2nd
(35508 Hogddes BIo (2330, 2
2 World Ozone day b.  Apnl 22nd
in::n::U:j c\_-’l:SSEJ 250 gj‘{g}ﬁi_ 22
3. World Wetlands day c. June, 5th
1&0,0\.-51 méfﬁ __rlll." e B30 E;}J‘-'E 5
4, Earth day d.  September. 16th
$58(8 Bdo 000 16
Options :
: 1-b. 2-d. 3-a. 4-¢
5 % 1-d, 2-c, 3-b, 4-a

3 ¥ 1-c. 2-d. 3-a. 4-b



1-b. 2-c. 3-d. 4-a

L
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Eco-labelling of Commerical Products 1s regulated by
aredesg eefyBen) HoegHdes swldin ab Jabol@ob.

=%

Options :

1. ISO 14020

ISO 14010
e

3 % ISO 14030

4 » 18014040
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The EL Nino disappears in March and re-appears in

306 Y eS8 wodrdnHEod. HBAM JHH HIBEEHHHOB.
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Match the following:
£ (Bob 7HR) eefitihaim,
List -1
(D58 - 1)
=]
Il CHC

2. Co,. Methane

BOD & COD

L]
.

4. MIC

Options :

| % 1-b. 2-c. 3-e. 4-a
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List-II
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Water Pollution
80 SPeNso
Bhopal tragedy
Goard Dapdo
Noise Pollution
WRARSEOVES e
Ozone Depletion
5,8°% Sihse
Global Warming

&orEr0

2702821396

Yes

null



Question Number : 46 Question Id : 27028218979 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No

Correct Marks : 2 Wrong Marks : 0

The mode of educational transaction i ancient system of Gurukul education used to be
Do sreos Hdkerod Do (BB Bob wory TR SRR
Options :

Vocational based

- S)B,8HHES

Values based

> Dende r8HOSH

Skalls based

w . 5 o i
% D)EFTNO (aPSDHOES

All the above
= B

olodod
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4. =
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According to Radhakrishnan Commnussion, which of the following s not the aim of Higher Education?

UDQ': g.;; i \:’::.L n.xcl |c>.1? g &-:u P\."Eﬁb i"a\‘:é 1,"—‘_" »‘_Lc\ oo \.J&



Options :

To develop the democratic values. peace and harmony

Heearene Denden, rofarndared DosrohodSdo
= o fadl )

To develop great personalities who can give their contributions in various fields
DG Borred® ordodie IRy tiﬁ'a”;‘,&{éﬁéo

To develop vocational skills and traditional crafts

3 v DB By, FPoEErad J8HFHeD 0dHj Jchdo

To develop reasoning and critical thinking
8, DHGTHE Ha HoerdodsEo
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Foundation training to the newly recruited IAS (Probationers) is imparted by:
SrE50rT DOVBS DD (FPBVS0 egfitoo 856 =) Ny

Options :

Indian Institute of Public Administration

R o, P,
eeiSéd (Deribared Do
L

A

Administrative Staff College of India

gt HBareN 38m Serere



L.B.S. National Academy of Administration

e 4 = i By af TN -
ePHTLErOTR erach Hbares esetidh
3.¢

Centre for Advanced Studies

4 % ol eidhore Solio
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The full form of NAAC 1s
NAAC Eﬂl]ég_ B Brdo

Options :

National Assessment Accreditation Council
- 556 DDD0E w0k EBEEAS

National Assessment and Accreditation Chamber
- I5HE DDFots w0k JEEEAS Joxb

National Assessment and Adjudication Council

3 % S0S JPDD0ES ©ob EW~EEAS TS

National Accession and Accreditation Council

. J58S IS w0k ABEBAS TS
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Which of the following fype of universities cannot award deg:rees

(Bod =8 e“tﬁa 8 DefgEd Hoobotld ay‘:Pu adeRE el ) drrgediren

Options:

State University

o

e
ot .:'i,%' &mtﬂri goo

—
¥
40

H

Private University

p

e S v LT -eh

AFN Ay a,lﬁn:mcrv_:.;@cﬁlah
¥ i

Deemed to be University

&5& DEDoegecho

None of the above

__'a aJa) qET
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Which one of these glacial features is formed in the bed of a sub-glacial stream?
Options :

Roche Montanne

Morraine

Drumlin

4 % Fjord Coast
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Which of the following term is used for increase in temperature with increase in
altitude is known as:

Options :

Lapse rate

Adiabatic lapse rate



» Inversion of temperature

4 % Normal rate
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Which one of the following statement is incorrect?

Options :

The terrestrial planets were formed in close vicinity of the Sun. thus they are
1. % rtocky.

The solar winds were not mtense, thus jovian planets are gaseous.

3 ¥ The terrestrial planets have higher gravitational force.

The distance of earth from sun 1s about 150 million kilometers.
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Identify the correct sequence of the given processes regarding rainfall:

Options:

Unsaturated air. condensation. dew Point, precipitation

5 % Dew Point, condensation, unsaturated air, precipitation

Unsaturated air. dew Point. condensation. precipitation
3. v

. Dew Point. precipitation. condensation, unsaturated air
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Which one of the following primary greenhouse gases is not associated with global
warming:

Options :

Water vapour
1. %

. Carbon dioxide



Methane

Hydrogen
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Which one of the following is a taiga biome?

Options :
Subtropical biome

1. %

Sub Arctic biome

3. % Savanna biome

4 % Sub Sahara biome
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Correct Marks : 2 Wrong Marks : 0

In describing the patterns and processes of spatial interaction, geographers are most
concerned with:

Options :

1« Accessibility and connectivity

> % Density and dispersion

3. # Diffusion and pattern

Population and resources
4, %
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Which of the following school of thoughts developed the science of astronomy:

Options :
1« Greeks

2. % Romans

3 % Chinese

4 w» Arabs
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Who among the following promoted the concept of cultural landscape:
Options :

1 = Ratzel

> % Anne Buttimer

3.« Carl Sauer

4 % Wilbur Zelinsky
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Which one of the following propounded Organic theory of the state?

Options :

1. % Mackinder



2.« Ratzel

3 % Haushofer

Isaiah Bowman
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Which one of the following is an incorrect pair:

Options:

A B
1 = Utilitarian planning Functional planning

A B
> % Comprehensive planning Integrated planning

A B
3 % Regional planning Spatial planning
A B
Sectoral planning Coordinated planning
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Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R). Select your answer from the codes given below:

Assertion (A): Laterite Soils are well developed in Kerala
Reason (R): Kerala receives high rainfall during monsoon season
Code:

Options :

1 « Both (A) and (R) are true and (R) 1s the correct explanation of (A).

> % Both (A) and (R) are true, but (R) 1s not the correct explanation of (A).

3 % (A)is true but (R) is false.

4 % (A) 1s false but (R) 1s true.
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0
Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R). Select vour answer from the codes given below:
Assertion (A): Himalayan Rivers are perennial
Reason (R): The region gets ramfall from the south west monsoon season only

Code:



Options :

1. % Both (A) and (R) are true and (R) is the correct explanation of (A).

5> Both (A) and (R) are true. but (R) i1s not the correct explanation of (A).

3. % (A) 1s true but (R) 1s false.

(A) 1s false but (R) 1s true.
4, %
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The variability of rainfall is best represented by which of the following technique?
Options :

1. % Mean deviation

> % Standard deviation

3 « Coefficient of variation

4 % Interquartile range
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Which one of the following is not a quantitative distribution map?

Options:

1 Choroschematic map

> % Isopleth map

s

3 % Dotmap

4w Choropleth map
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Which one of the following is formed as a result of tectonic forces?
Options :

1 » Hanging Valley

> % Blind Valley



v Rift Valley

4 % U shaped Valley
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Match List | with List Il and select the correct answer from the options given below :

List-I List-Il
A, Normalfault 1. Displacement of both the rock blocks in opposite direction
B.  Reverse fault 2. Movement of both the rock blocks towards each other
C.  lateral fault 3. Displacement of Rock block horizontally along fault plane
D.  Thrust fault 4, When the suspended wall appears to move upward relative to the
foot wall.

Select the correct answer from the following codes

Options :

1 Al b- 2 c- 3 d-4
A-3 b- 4 c-1 d-2

2. %

3 % A-2 Db-4 c-1 d-3
A- 3 b-1 c-4 d-2
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Migration from developed to less developed region is called as:

Options :

- Emigration
5, % lmmigration

5 » Perverse migration

Reverse migration
4. %
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“Space is socially or culturally constructed”, this view represents which of the
following school of thought?

Options :

| % Logical positivism

> % Behaviouralism



3 « Post modernism

4 % Structuralism
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Insolation reaches the Earth's surface in the form of:

A

Options:

1 ¢ Short waves

2. % Long waves

3. ® Cosmic waves

4 % Primary waves
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The range of visible wavelength on electromagnetic spectrum is:

Options :

1.« 0.4 -0.7 micro meters

> % 0.3-09 micro meters

3. % 0.7 - 15 micro meters

4 % 0.3 - 15 micro meters
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Which one of the following statement about Caspian Sea is incorrect?

Options :
1. % River Volga drains 1ts water into Caspian Sea.

> % Kazakhstan. Iran and Poland are located around Caspian Sea.

5 » The south bed of Caspian Sea is about 1000 meters below sea level

v Caspian Sea 1s second largest inland water body on earth
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If one tropical cyclone is located five hundred Kilometers south west of
Visakhapatnam. The cyclone first move 250 km in North West direction and then
suddenly changed the direction to North East. Which of the following post would
raise the highest danger signal:

Options :

1. # Chennai

> % Haldia

3 « Visakhapatnam

4. % Trivandrum
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Which one of the following is not a measure of Central tendency:

Options:

1. % Arithmetic mean



5> « Mean deviation

3. % Median

4 % Mode
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Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R). Select your answer from the codes given below:

Assertion (A): The raster format data Structure provides a greater compufational
efficiency

Reason (R): The raster format data structure is simple
Code:

Options:

1.+ Both (A) and (R) are true and (R) 1s the correct explanation of (A).

5 % Both (A) and (R) are true. but (R) 1s not the correct explanation of (A).

3 % (A)1s true but (R) is false.

~ (A) 1s false but (R) 1s true.
4, %
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If a map has the RF = 1. 50000; if the same map is redrawn on RF = 1: 250000.
What would be the status of new map?

Options :

1 « Reduced by 5 times

> % Enlarged 5 times

3 % Enlarged 10 times

4 = Reduced 10 times
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. Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R). Select your answer from the codes given below:

Assertion (A): The salinity in Dead Sea is very low

Reason (R): Dead Sea is located in tropical dry climate region, where evaporation i
high precipitation 1s low and Drainage s internal
Code:

Options :

1.



% Both (A) and (R) are true and (R) 1s the correct explanation of (A).

> % Both (A) and (R) are true, but (R) is not the correct explanation of (A).

3« (A)is true but (R) is false.

4 % (A) 1s false but (R) 1s true.
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Which of the following is the slowest form of mass wasting?

Options :

1« Soil creep

> % Solifluction

3 % Talus

4 % Shattering
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Which one of the following values of correlation coefficient (r) is not correctly
matched:

Options :

A
More than 0.99

+0.01

- 0.99

B
High

B
Moderate

B
Very low

B
No relation
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The rigid masses surrounding the geosyncline were termed by Kober as:

Options :

1 = Orogen

2 « Kratogen



3 % Primrumph

4 = Zwischengebirge
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Match List I with List IT and select the correct answer from the options given below :

List-I List-IT
(River) (Tvpe of delta)

A, Mississippi 1. Arcuate

B. Nile 2. Bird foot

C. Narmada 3. Abandoned

D. Old course of yellow river 4. Estuarine

Select the correct answer from the following codes

Options :

A B C D

3 2 1 4
1. %

A B C D
2.¢ 2 1 3 4

A B C D



Question Number : 82 Question Id : 27028219015 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0
.Which tvpe of front has the steepest slope?

Options:

1. ® Warm front

2.« Cold front

3 % Stationary front

4. % Occluded front
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‘Which one of the following pairs is not correctly matched:

Options :

1.



A B

% Evaporation The process of converting a liquid to a gas
A B
> w Condensation The change of state from a gas to a liquid
A B

Element A substance that cannot be decomposed into simpler substances by ordinary

chemical or physical means

3. %
A B
Conduction Tiny bits of particulate matter that serve as surface on which water
4. vapour condenses
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.Which one of the following pairs is not correctly matched:

Options:
A B
1. % Strabo Published 17 volumes work as geography
A B
> % Ptolemy Published a famous text called Almagest

A B
3. % Hipparchus Designed Orthographic and Stereographic projections



A B
Hecataeus Invented an instrument known as 'Astrolabe' for determination of
4. latitude and longitude
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.The concept of areal differentiation is also termed as:

Options :

1 % Exceptionalism
> « Chorological study

3 % Systematic geography

Regionalism
e
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‘Which one of the following statement is not correct:

Options :



1 % Regions are mental concept. formulated to arrange Earth features in some abstract order.

Regions could either be finite or infinite boundless three dimensional extending much
5« Deyond the limits of terrestrial sphere.

The regional concept is a device to comprehend likenesses and differences on the earth
3. % surface.

A region has some kind of internal homogeneity which distinguishes it from the
4 % neighbouring areas.
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.Who made this statement that 'Geomorphology is the interpretative description of
the relief features'

Options :
1. % Thombury
> % Lobeck

3. # Strahler

4. « Worcester
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Submergence of the land is best explained as:

Options :

1. Sinking of land mass in relation to its adjoining sea level
5 % Rise of land mass in relation to its adjoining land mass
3 % Sinking of the land relation to its adjoining land mass

u Rise of land mass in relation to its adjoinings sea level
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Deepening of River Valley is the result of which of the following forces:

Options:

1. % Epeirogenetic forces

> % Endogenetic forces



« Exogenetic forces

4 % Compressional forces
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.What is anticline?

Options :

1. % A valley which follows the anticlinal axis

2. % Rock structure in which the Bedrock folded into an Arc

3. « A down fold in the strata of the earth crust

4. % A broken limb due to tensional forces
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The slided forward and overriding limbs of a recumbent fold are called as:

Options :



1.« Thrust

> % Recumbent fold

3 % Nappes

Monoclinal folds
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The process of repeated expansion and contraction weakens the outer layer of rock
which eventually peel-away the rock layer, this process is known as:

Options :

1. % Oxidation

2. % Carbonation

3. « Exfoliation

4. % Leaching
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‘Which of the following mountain system is not originated due to geosynclines?

Options :

1. % Alps

2.« Ural

3. % Himalayas

4 % Rockies
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Which of the following option represents the upper curve and lower curve in an
erosional cycle?

Options :
1. + The Hilltop or crest of water divide and Valley floor

2 % The mountain and plains

3. % The surface and ocean surface



The eroded and deposited landform
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Headward erosion commonly occurs by which of the following processes?

Options :

1.+ River

2 % Wind

3. # Underground water

4 % Cosmic waves
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. Which of the following statements are true about Dryland Farming in India?
I.  Itis largely confined to the regions having annual rainfall less than 25 cm.
II.  These regions grow hardy and drought resistant crops.
III.  Such regions may face flood and soil erosion hazard.
IV. It practises various measures of soil moisture conservation.
Choose the correct options:

Options :

1. % Iand IT only

5> s L IIand IIT

3.« Iland IV

4 % I and IV only
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The world’s major commercial fishing grounds are located in the:

Options :

1.« .Cold and temperate waters of the northern hemisphere.

5> % Warm equatorial waters

3 % Temperate waters of tropical seas



4. ®* Warm waters of seas in the southern hemisphere.
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Which among the following statements is/are correct?

1 Assam produces 70% jute in India.
2 A hot and humid climate 1s suitable for growing jute.
3. TJute cultivation is closely related to deep black soil.
4 Bangladesh 1s the chief supplier of jute to India.
Options:

Options:

1. % Onlyland4

5 « Z2and4only

3 % 2.3and4

4 % 1.2and4
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Consider the followings statements about Amazon Forest:
1. The Amazon basin is one of the largest equatorial forest areas of the world.
2. The forests of Amazon basin are known as Pampas.
3. The forest covers parts of Brazil, Argentina, Uruguay and Chile.
Which of the above statements is/are not true?

Options :

1. % Only3

2 « Only2and3

3 % 0111‘-5; 2

4 % Onlyland3
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Consider the followings statements and select the correct option:
1 India produces 60 % mica of the world.

Z; Jharkhand is the leading producer of mica in India.
3. About half of the national reserve of mica 1s found in Rajasthan.
4. Kodarma of Jharkhand is famous for Ruby mica.
Which of the above statements is/are not true?
Options :

1. % 1and 2 only

2 % 2,3 and 4 -



w l.3and4

4. % 3and4

Question Number : 101 Question Id : 27028219034 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Select the correct options from the below about Rat-Hole Mining?
1. Itis a traditional method of coal mining.
2. It has been largely practiced in Arunachal Pradesh by the family members for mining of
coal by digging.
3. It involves mining of coal in the form of a long narrow tunnel.
4. The Government found it illegal and banned temporarily in 2014.
Which of the above statements is/are not true?

Options :

1.% 1,2and3

> % land2only

3 ¢ l.3and4 -

4 % 1only.
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the codes given below:

Assertion (A): Pole ward. an increase in precipitation gives rise fo a transitional zone of
wooded steppes.

Reason (R): Trees are in abundance in the steppes because of heavy rainfall and short
drought season.

Codes:

Options:

1 % Both (A) and (R) are true and (R) is the correct explanation of (A).

5 % Both (A) and (R) are true. but (R) is not the correct explanation of (A).

3 ¥ (A) 1s true but (R) 1s false.

4 % (A) is false but (R) is true.
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Gently inclined rocky floors close to the mountains at their foot with or without a
thin cover of debris are called:

Options :

1.« Pediments



5> % Pediplains

3 » Playas

4 % Inselberg
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The outer edge of the continental shelves from where starts the continental slope is
known as:

Options :

1. % Continental rise

Shelf break
2.

3 % Abyssal plains

Ocean deeps
4. %

Question Number : 105 Question Id : 27028219038 Question Type : MCQ Option Shuffling : No
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Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Select your answer from the codes given below:

Assertion (A): Darker soils reflect more heat than the light soils which are better absorbers

Reason (R): Such soil differences may give rise to slight variations in the temperature of the
1egiofn.

Codes:

Options:

| % Both (A) and (R) are true and (R) is the correct explanation of (A).

, % Both (A) and (R) are true. but (R) is not the correct explanation of (A).

3 % (A) is true but (R) 1s false.

4 (A)is false but (R) is true.
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No
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Which one of the following ocean bottom relief does not belong to Pacific Ocean?

Options :

1. % Albatross plateau

2. % Tasmania basin



3.« Dolphin rise

Aleutian ridge
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.Match List I with List IT and select the correct answer from the options given below

List-I List-11

A.  Stationary wave theory 1. Newton
B.  Progressive wave theory 2. W. Whewell
C.  Equilibrium theory 3. R.A. Harris
D.  Dynamic theory 4. Laplace
Options:
Options :

A B C D
1% 1 2 3 4

A B C D
2. % 3 1 4 2

A B C D
3 % 2 3 1 4

»
4
f_\H
|
=
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Arrange the Clouds in descending order (Highest to Lowest) on the basis of their
altitude:

Options :

Cumulus- Cirrus- Alto Cumulus- Nimbo-stratus

Cirrus- Alto-Cumulus- Cumulus- Nimbostratus

3 % Alto-Cumulus- Nimbostratus- Cirmus- Cumulus

4 % Nimbostratus- Cirrus- Alto Cumulus- Cumulus
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Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No
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Which one of the following is the correct sequence (early to later) in the

development of French Geographical thought?

Options :

J. Brunhes- Reclus- Vidal de la blache- Demangeon



5 Vidal de la blache- J. Brunhes- Reclus- Demangeon

3 % Demangeon- J. Brunhes- Reclus- Vidal de la blache

4 % Reclus- Vidal de la blache- J. Brunhes- Demangeon
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“Lower Stationary” belongs to which stage of population development according to
Demographic transition theory?
Options :

Second stage

5 o Fourth stage

3 % Third stage

Fifth stage
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Match List | with List Il and select the correct answer from the options given below :

List-| List-ll
(Terms) Description
A.  Material Index 1. Ratio of labour cost / unit of product to locational weight of
that unit.
B. Isodapanes 2. Advantage of production due to concentration of Industries.
C. Labour Coefficient 3. Weight of the localized material & weight of the product
D. Agglomeration 4, Lines of equal transport cost/tonne
Options:
Options:
1. % A-4 b-2 c-1 d-3
2 % A-3 b-1 c-4 d-2

;3% A-2  b-3 c-1 d-4

4@ A3 b-4 ol d-2
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.The proportion of area under various crops at a point of fime is known as:

Options :



1. % Crop Combination

2 Cropping Pattern

3. # Crop Concentration

4 % CrOp Diversification
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Who said “resource does not refer to a thing or a substance but to a function
which a thing or a substance may perform or to an operation in which it may take
part*?

Options :

1 = E.Peats

2. % Lamertine

3. # G.T. Trewartha

E.W. Zimmermani
4. &

Question Number : 114 Question Id : 27028219047 Question Type : MCQ Option Shuffling : No
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.Select the correct sequence of the Westward flowing rivers of India from North to
South:

Options :

1. % Mahi- Tapti- Luni- Narmada- Sabarmati

5> % Narmada- Luni- Tapti- Mahi- Sabarmati

3. ® Tapti- Mahi- Narmada- Sabarmati- Luni

4 Luni- Sabarmati- Mahi- Narmada- Tapti
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Which one of the following statements is not true about the Archaen rocks?

Options :

1. % These are the oldest rocks of the world

2 « They are all fossiliferous.



3 % They are also known as Basement Complex.

4 % They are extremely crystalline and faulted.
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Which one of the following i1s considered as the catalytic factor in Von Thunen’s

Model?

Options :

1. # Market

2.« Transport Cost

3. % Urban Centre

4. # Concentric Zones
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Consider the following statements in relation to the Losch’s Theory of

Industrial Location.

He disregarded spatial variations m production costs by holding them constant.

He treated each function having a separate range, threshold and hexagonal hinterland.
His theory 1s also known as “Area-Cost Curve Theory™.

He also used Isocost lines and map which ndicate the optimum location.

Select the correct answer using the codes below:

e —

e

Options :

1.% 1,2and3

> % 2and3

3.« land 2

4 % 1,2 and 4
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Consider the following statements regarding the Quaternary Activities.
1. These activities involve collection. production and dissemination of information.
2. They are tied to resources. affected by the environment or necessarily localized by market.
3. These activities center on research and development.
4. Like some of the tertiary functions. quaternary activities cannot be outsourced.
Select the correct answer using the codes below:

Options :

1. % l.and 4

2 % 3 and 4



3 % 2and 3

4.« land3
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Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason
(R). Select your answer from the codes given below:

Assertion (A): Von Thunen argued that the sectoral fields are the most irrational means of
reducing the time spent by the farmer in travelling around the farm.

Reason (R): Sectoral fields are not common but they are used in varying farming systems and
environments.

Codes:

Options :
1. % Both (A) and (R) are true and (R) is the correct explanation of (A).
> % Both {A} and (R) are true. but {.R.) is not the correct explanatioﬁ of{A).

3 % (A) is true but (R) is false.

4 (A) 1s false but (R) is true.

Question Number : 120 Question Id : 27028219053 Question Type : MCQ Option Shuffling : No
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Consider the following statements:

1. The Galwan Valley is located between Ladakh in the west and Aksai Chin in the east.

[

. The Ladakh Plateau lies to the north-east of the Karakoram Range.
3. Karakoram Range forms India's frontiers with Pakistan and China.

Which of the statements given above is/are correct?

Options :

1 % 1and 3

5 % Only2

3 ¢ land2

4. % 2and3
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Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R). Select vour answer from the codes given below:

Assertion (A): Copper is mainly used in electrical cables, electronics and chemical
industries.
Reason (R): It is highly malleable. ductile and a good conductor.

Options :



1. % Both (A) and (R) are true and (R) is the correct explanation of (A)

2« Both (A) and (R) are true. but (R) is not the correct explanation of (A).

3 % (A) is true but (R) is false.

4 % (A) 1s false but (R) is true.
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Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason (R).
Select your answer from the codes given below:
Assertion (A): Humanistic Geography rejects positivism and quantification in Geography.
Reason (R): Humanistic Geography emphasises the role of human agency and its

creativity in the construction of place, space and landscape.
Codes:

Options :

1.+ Both (A) and (R) are true and (R) is the correct explanation of (A).

> % Both (A) and (R) are true. but (R) is not the correct explanation of (A).

3 % (A)is true but (R) is false.

4 % (A)is false but (R) is true.



Question Number : 123 Question Id : 27028219056 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Match List | with List Il and select the correct answer from the options given below :

List-l List-ll
A. Unity 1n Diversity 1. Vidal de la blache
B. Principle of Terrestrial Unity 2. Ratter
C. Principle of Interaction 3. Humboldt
D. Unity of Nature 4. I. Brunhes
Options :
1. % A-1 b-2 c-3 d-4
, % A2 b-4 c-1  d-3
3. % A-3 b-2 c-4 d-1
4@ A2 b-1 -4 d-3
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.Which one of the following forms the longest and the most important range of the
Middle Himalayas?

Options:



£

1 % Ladakh Range

> % Karakoram Range

Pir Panjal Range

« Zaskar Range
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Match List | with List Il and select the correct answer from the options given below :

List-1 List-ll
Drainage Patterns Region
A, Dendritic 1. Narmada & Tapi valleys
B. Radial 2. Central Highlands
54 Pinnate 3. Indo- Gangetic Plains
D. Trellis 4. Peninsular Region
Options :
1. % A-l b-3 c-4 d-2
2 % A-2 b-4 c-1 d-3

3 ¢ A-3 b-2 c-1 d-4



-

4 % A-l b-3 c-2 d-4
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. EI-Nino Current appears in the summer month along which of the following
coast?

Options :

1 w» Brazil

2 ® Norway

3 ¢ Peru

Mexico
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Match List | with List Il and select the correct answer from the options given below :

List-l List-ll
Vegetation Types Altitude (mts.) AMSL
A.  Sub- tropical broad leaved forests 1. 500 to 1300
B. Tropical wet Evergreen forests 2. 2900 to 3800
C.  Alpine forests 3. 1800 to 3000
D. Montane wet temperate forests 4. 1000 to 2000
Options:
1. % A4 b-1 c-3 d-2
2 % A-3 b-2 c-4 d-1
3 ¢ A-4 b-1 c-2 d-3
A-2 b-3 c-1 d-4
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Match List | with List Il and select the correct answer from the options given below :

List-| List-ll
(Soil Types) (Characteristics)
s Alluwvial 1. Rich in Humus
B. Black 2. Immature & Weak Profile
e Forest 3. Reh & Kallar
D. Saline & Alkaline 4, Retentive of Moisture

Options :



2« A-2 b-4 c-1 d-3
3 % A2 b-4 c-3 d-1
4. % A-l b-2 c-4 d-3
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Which kind of erosion is largely responsible for the Bad-land type topography?

Options :

1. % Rill Erosion

5  Gully Erosion

3 % Sheet Erosion

4 % Block erosion
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Which one of the following factors does not affect Soil Erosion?

Options :

1 % Degree & Length of Slope
> % Type of soil

3. % Nature of ground cover & landuse

Basin Listing
4.
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Match List | with List Il and select the correct answer from the options given below :

List-| List-Il
(Plates) (Their Location)
A. Nazca Plate 1. Between Central America & Pacific Plate
B. Cocos Plate 2. North- East of Australia
C. Caroline Plate 3. Between South America & Pacific Plate
D. Fuji Plate 4. Between Philippine & Indian Plate
Options :

1.% A-3 b-2 c-1 d-4



A-2 b-3 c-4 d-1

2. #®
3 x A-4 b-2 c-1 d-3
4 v A-3 b-1 c-4 d-2
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When there is prolonged period of inadequate rainfall with mal- distribution,
such situationis  known as.

Options :

1. #  Agricultural Drought

> % Hydrological Drought

3.« Meteorological Drought

4 % Socio-economic Drought
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.The digital image process, which involves algorithms that examine the unknown
pixels in the image and aggregate them into a number of classes based on the
natural groupings or cluster present in the image is known as:

Options :

1 % Spectral enhancement technique

> % Supervised classification technique

3 « Unsupervised classification technique

4 % Image transformation technique
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Which of the following statements are not true:

Options :

1.« Mean > median > mode implies a positively skewed distribution.

5 % Mean< median < mode implies a negatively skewed distribution.

3. ®# Mode > Median > mean implies a positively skewed distribution



4 % Mean = median = mode implies a positively skewed distribution.
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"Chi square test" measures:

Options :

1. % Mean deviation

2 « Goodness of fit

3 % Trend

4 % Variations
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Which one of the following is salient characteristic of Rater data format?

Options:

1. % Simple data structure



> % Easy and efficient overlaying

3 % Compatible with remote sensing imagery

4 Difficult network analysis.
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Which of the following statement is incorrect about Himalavan Mountain
System?

Options:

1. % It has about 100 peaks exceeding 7000 meters altitude.

2. # It muns west fo east — south east in and arc of about 2400 kilometres.

3. % Kanchenjunga is the highest peak of Indian Himalayas.

Himalaya consist of parallel ranges with Siwaliks as southern most and Great
Himalayas as northern most range.

Question Number : 138 Question Id : 27028219071 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

. Match List I with List IT and select the correct answer from the options given

below : List-I List-II
A.  Homolographic projection 1. Equi-distant
B. Orthographic projection 2. True direction
C. Azimuthal projection 3. Equal area
D. True Scale projection 4. True shape
Options:
1. % A-4 b-3 c- 2 d-1
5 % A-2 b-1 -4 d-3
3 ¢ A3 b-4 c-2 d-1

A-4 b-2 c-3 d-1

4. %
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Which of the following spatial analysis n GIS effectively detects the changes in land
use/land cover:

Options :

1 % Proximity Analysis



2. % Kehﬁ.'crk-‘ﬂuml}r-sis
3. % DBuffer Analysis

4 Overlay Analysis
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The resolution which is related to sensitivity of remote sensing detector to record
differences in portions of the electro-magnetic radiation is known as:

Options :

1. % Spatial resolution

> « Spectral resolution
3 % Radiometric resolution

Temporal resolution
4. %
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Given below are two statements, one labelled as Assertion (A) and the other labelled as Reason
(R). Select your answer from the codes given below:
Assertion (A):Blue sky is the result of scattering of EMR

Reason (R): Atmospheric constituents smaller than EMR wavelength result in scattering of
shorter visible wavelength.

Codes:

Options :

1. + Both the statements are true and R is the correct explanation of A,

> % Both the statements are true but R is not the correct explanation of A.

3 % Only statement A is true and statement R is false

4 % Only statement R is true and statement A is false

Question Number : 142 Question Id : 27028219075 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Match List I with list IT and select the correct answer by using the codes given

below:
ListI ListIT
A, ASTER 1. Measurement of pollution in the troposphere
B. MODIS 2. Land surface temperature. reflectance and elevation
C. MOPITT 3. Monitor borders as part of anfi infiltration and anfi terrorist
operations
D. RISAT2 4. Monitoring of vegetation health by means of time series analyses

with vegetables indices



Options :

1. % A-1 b-2 c¢3 d4

2.« A-2 b4 c-1 d-3

o A-4 b-2 c¢-3 d-1
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Which one of the following statement is incorrect about Indian Foreign Trade?
Options :

1. % The largest volume of exports is to USA.

>  The largest volume of imports is from Saudi Arabia

3. # India’s trade deficit 1s maximum with China

4 % Engineering goods are the leading export commodity in terms of value.
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How is stratified sampling carried out?

Options :

1« Divide the population into homogenous groups and select equally but randomly.

> % Assigning numbers to the population & selecting the numbers

3 % Population divides itself into random groups and select equally from each group

4 % Sample 1s made up of elements which are randomly selected from the population
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‘Which among the following options explains the term *Autecology” correctly:

Options :

1.« Study of relationship of individual species to its environment

> % Study of complex interrelationships of groups of organisms.

3 % Study of floral diversity



Study of faunal diversity
4. %
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Which one of the following is not an ersional landform?

Options :

1 % Zeugen

2. % Aretes

3 % Rapids

4. Seifs
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A circular shaped coral reef enclosing a shallow lagoon without any land in
centre is called as:

Options :



1. # Barrier Reef

> % Fringing Reef

3. Atoll

Festoons
)
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Which one of the following can be classified as structural plains?

Options:

1. % Gangetic plains of India

> % Hwang Ho Plains of India

3« Great Plains of USA

4 % Pampas Plains of Argentina
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Which among the following countries do not have geometrical boundary as their
international boundary?

Options :

1. = Libya and Egypt

2. % USA and Canada

3 % North Korea and South Korea

4. France and Germany
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Which one of the following is organically formed sedimentary rock?

Options :

1 % Sand Stone

> Lime Stone

3. # Mud Stone



Rock Salt

4. %



